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−𝑢𝜖 + 𝑢2 + 𝑂(3)

𝑥
𝑦 =

2𝑢 + 𝑣
−𝑢 + 2𝑣

𝑓 = 𝑂(2)

5

2
𝑣 =

5

2
(𝑎𝑢2 + 𝑏𝜖2 + 𝑐𝑢𝜖)



𝑑𝑣 𝑢, 𝜖

𝑑𝑢
𝑓(𝑢, 𝑣 𝑢, 𝜖 , 𝜖) =

5

2
𝑣 + 𝑔(𝑢, 𝑣 𝑢, 𝜖 , 𝜖)

→ 𝑂(2)



0 =
5

2
(𝑎𝑢2 + 𝑏𝜖2 + 𝑐𝑢𝜖) +

2

5
−𝑢𝜖 + 𝑢2

𝑑𝑣 𝑢, 𝜖

𝑑𝑢
𝑓(𝑢, 𝑣 𝑢, 𝜖 , 𝜖) =

5

2
𝑣 + 𝑔(𝑢, 𝑣 𝑢, 𝜖 , 𝜖)

→ 𝑂(2)



0 =
5

2
(𝑎𝑢2 + 𝑏𝜖2 + 𝑐𝑢𝜖) +

2

5
−𝑢𝜖 + 𝑢2

𝑑𝑣 𝑢, 𝜖

𝑑𝑢
𝑓(𝑢, 𝑣 𝑢, 𝜖 , 𝜖) =

5

2
𝑣 + 𝑔(𝑢, 𝑣 𝑢, 𝜖 , 𝜖)

→ 𝑂(2)

𝑣 𝑢, 𝜖 = −
4

25
𝑢2 +

4

25
𝑢𝜖



0 =
5

2
(𝑎𝑢2 + 𝑏𝜖2 + 𝑐𝑢𝜖) +

2

5
−𝑢𝜖 + 𝑢2

𝑑𝑣 𝑢, 𝜖

𝑑𝑢
𝑓(𝑢, 𝑣 𝑢, 𝜖 , 𝜖) =

5

2
𝑣 + 𝑔(𝑢, 𝑣 𝑢, 𝜖 , 𝜖)

→ 𝑂(2)

𝑣 𝑢, 𝜖 = −
4

25
𝑢2 +

4

25
𝑢𝜖 ሶ𝑢 ቚ

𝑣(𝑢,𝜖)
= 𝑓 𝑢, 𝑣 𝑢, 𝜖 , 𝜖



ሶ𝑢 ቚ
𝑣(𝑢,𝜖)

= 𝑓 𝑢, 𝑣 𝑢, 𝜖 , 𝜖 =
2

5
2𝑢 + 𝑣 2 −𝑢 + 2𝑣 −

1

5
𝜖 −𝑢 + 2𝑣 + −𝑢 + 2𝑣 2



ሶ𝑢 ቚ
𝑣(𝑢,𝜖)

= 𝑓 𝑢, 𝑣 𝑢, 𝜖 , 𝜖 =
2

5
2𝑢 + 𝑣 2 −𝑢 + 2𝑣 −

1

5
𝜖 −𝑢 + 2𝑣 + −𝑢 + 2𝑣 2

= −
1

5
−𝑢𝜖 + 𝑢2 + 𝑂(3)



ሶ𝑢 ቚ
𝑣(𝑢,𝜖)

= 𝑓 𝑢, 𝑣 𝑢, 𝜖 , 𝜖 =
2

5
2𝑢 + 𝑣 2 −𝑢 + 2𝑣 −

1

5
𝜖 −𝑢 + 2𝑣 + −𝑢 + 2𝑣 2

= −
1

5
−𝑢𝜖 + 𝑢2 + 𝑂(3)

ሶ𝑢 =
1

5
𝑢 𝜖 − 𝑢

Al orden más 
bajo no trivial

Alcanza para definir la 
estabilidad del pf y la 

bifurcación

𝑢∗

ϵ

e

i


